
Installation Tools
Imperial/US Drill + Tap (Best Method for Frequency Response)
Metric Drill + Tap (Best Method for Frequency Response)
Epoxy + Mounting Pad, Phenolic Block, or Motor Fin Mount
Magnetic Mounting Pad

Mounting Locations
and Methods



1. Multimeter (Fluke 179 True RMS Multimeter 
Recommended)

                                        

2. Wire/Cable Strippers (16-26 AWG Stranded 
Recommended)

                            

3. Cable Jacket Remover (Jonard Recommended)

Installation Tools

Required Tools

https://www.amazon.com/Fluke-ESFP-True-Multimeter-Backlight/dp/B00012Z0V6/ref=sr_1_19?crid=V5TN25TJT5J6&keywords=fluke+multimeter&qid=1655367353&s=hi&sprefix=fluke+multimeter,tools,109&sr=1-19&th=1
https://www.amazon.com/Fluke-ESFP-True-Multimeter-Backlight/dp/B00012Z0V6/ref=sr_1_19?crid=V5TN25TJT5J6&keywords=fluke+multimeter&qid=1655367353&s=hi&sprefix=fluke+multimeter,tools,109&sr=1-19&th=1
https://library.machinesaver.com/uploads/images/gallery/2022-06/hVJVj0xIJacpxzDI-fluke-179-true-rms-multimeter.jpg
https://www.amazon.com/Stripper-Stranded-Klein-Tools-11046/dp/B0000302WS/ref=sr_1_4?crid=2MS9NUOSPRE4S&keywords=16-26+AWG+Wire+Stripper+Cutter&qid=1655363775&s=hi&sprefix=16-26,tools,73&sr=1-4
https://www.amazon.com/Stripper-Stranded-Klein-Tools-11046/dp/B0000302WS/ref=sr_1_4?crid=2MS9NUOSPRE4S&keywords=16-26+AWG+Wire+Stripper+Cutter&qid=1655363775&s=hi&sprefix=16-26,tools,73&sr=1-4
https://library.machinesaver.com/uploads/images/gallery/2022-06/oP4PNOv5omRaMhGU-wire-strippers-awg-16-26.jpg
https://www.amazon.com/Jonard-CST-1900-Stripper-Precise-diameter/dp/B0069627PA/ref=asc_df_B0069627PA/?tag=hyprod-20&linkCode=df0&hvadid=310828259700&hvpos=&hvnetw=g&hvrand=3963577292136248321&hvpone=&hvptwo=&hvqmt=&hvdev=c&hvdvcmdl=&hvlocint=&hvlocphy=9026137&hvtargid=pla-436149423105&psc=1&tag=&ref=&adgrpid=65583250281&hvpone=&hvptwo=&hvadid=310828259700&hvpos=&hvnetw=g&hvrand=3963577292136248321&hvqmt=&hvdev=c&hvdvcmdl=&hvlocint=&hvlocphy=9026137&hvtargid=pla-436149423105


                             

4. Flush Cutter or Lineman's/Cutting Pliers

                                            

5. Blade/Boxcutter/Scalpel

                                    

https://library.machinesaver.com/uploads/images/gallery/2022-06/BDWdsVEhjpcVrxCI-jonard-cable-stripper.jpg
https://library.machinesaver.com/amazon.com/dp/B09832SX91/ref=redir_mobile_desktop?_encoding=UTF8&aaxitk=66ddc394ec8bf8ede07ce6a61ef85554&content-id=amzn1.sym.53aae2ac-0129-49a5-9c09-6530a9e11786:amzn1.sym.53aae2ac-0129-49a5-9c09-6530a9e11786&hsa_cr_id=8470620940501&pd_rd_plhdr=t&pd_rd_r=da092dbd-8168-4861-87d2-ed5f14f12e51&pd_rd_w=MIf5Z&pd_rd_wg=6onKx&qid=1655363109&ref_=sbx_be_s_sparkle_lsi4d_asin_0_img&sr=1-1-a094db1c-5033-42c6-82a2-587d01f975e8
https://library.machinesaver.com/uploads/images/gallery/2022-06/N3QwuskYwb0YfqQA-flat-cutter.jpg
https://www.amazon.com/AmazonBasics-Folding-Utility-Knife-Lightweight/dp/B07TFXQQ1W/ref=psdc_553240_t1_B089SPTW5S
https://library.machinesaver.com/uploads/images/gallery/2022-06/Iaq3n0BP0rAYq5ZS-utility-knife.jpg


6. Adhesive Lined, 1/2" Heatshrink Tubing, 3-1 Shrink 
Ratio
                                                     

7. Heat gun / Heat source
                                          

https://www.amazon.com/Pointool-Electrical-Waterproof-Automotive-Assortment/dp/B08RMTZ1YJ/ref=sr_1_2_sspa?crid=2MLHK5MCURNB4&keywords=3/8"+shrink+tube&qid=1655363506&s=industrial&sprefix=3/8,industrial,68&sr=1-2-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUExRVAwWTRDWlQ3MVM0JmVuY3J5cHRlZElkPUEwNDgyNzQ0M1VZU0E0RjhKWFlYNCZlbmNyeXB0ZWRBZElkPUExMDI0NDgyMjNYMTg2QjhNRzY3NiZ3aWRnZXROYW1lPXNwX2F0ZiZhY3Rpb249Y2xpY2tSZWRpcmVjdCZkb05vdExvZ0NsaWNrPXRydWU=
https://www.amazon.com/Pointool-Electrical-Waterproof-Automotive-Assortment/dp/B08RMTZ1YJ/ref=sr_1_2_sspa?crid=2MLHK5MCURNB4&keywords=3/8"+shrink+tube&qid=1655363506&s=industrial&sprefix=3/8,industrial,68&sr=1-2-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUExRVAwWTRDWlQ3MVM0JmVuY3J5cHRlZElkPUEwNDgyNzQ0M1VZU0E0RjhKWFlYNCZlbmNyeXB0ZWRBZElkPUExMDI0NDgyMjNYMTg2QjhNRzY3NiZ3aWRnZXROYW1lPXNwX2F0ZiZhY3Rpb249Y2xpY2tSZWRpcmVjdCZkb05vdExvZ0NsaWNrPXRydWU=
https://library.machinesaver.com/uploads/images/gallery/2022-06/2BfsthtUFIkZ3zoM-heatshrink-half-inch-3-to-1.jpg
https://www.amazon.com/BLACK-DECKER-HG1300-Dual-Temperature/dp/B004NDX7O6/ref=sr_1_27_sspa?crid=3JYIAZN0HWI3O&keywords=heat+gun&qid=1655363569&refinements=p_72:1248921011&rnid=1248919011&s=industrial&sprefix=heatgun,industrial,100&sr=1-27-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUEzNFdBNklURkZGVFA0JmVuY3J5cHRlZElkPUEwMzc1OTkxMVhWVkJMSEJVTVFXRiZlbmNyeXB0ZWRBZElkPUEwMjg0MzE3MVVXSlQyWjhPVUozVSZ3aWRnZXROYW1lPXNwX2J0ZiZhY3Rpb249Y2xpY2tSZWRpcmVjdCZkb05vdExvZ0NsaWNrPXRydWU=
https://library.machinesaver.com/uploads/images/gallery/2022-06/cosKewDdl3dHIXTR-heat-gun.jpg


8. Metric Allen Torque Wrench                |           
3/16" Torque-Adjustable Hex Key

                                

9. Degreasing Kit + Shop Towels

                                     

https://www.amazon.com/CDI-401SM-Adjustable-Screwdriver-40-Inch/dp/B000JXPF12/ref=sr_1_8?crid=1EMSBHMNN1AKA&keywords=cdi+torque+wrench&qid=1655365396&s=industrial&sprefix=cdi+torque+wrench,industrial,71&sr=1-8&th=1
https://www.amazon.com/CDI-401SM-Adjustable-Screwdriver-40-Inch/dp/B001F7VJSE/ref=sr_1_8?crid=1EMSBHMNN1AKA&keywords=cdi+torque+wrench&qid=1655365396&s=industrial&sprefix=cdi+torque+wrench,industrial,71&sr=1-8&th=1
https://library.machinesaver.com/uploads/images/gallery/2022-06/yc6mj2Qf93mOGG1e-metric-torque-wrench.jpg
https://library.machinesaver.com/uploads/images/gallery/2022-06/lwVHKXaJfw2cEG03-standard-torque-wrench.jpg
https://www.amazon.com/CRC-02185CS-Fast-Degreaser-Aerosol/dp/B01N7YM3NN
https://www.amazon.com/TaskBrand-N-V040CGB-Hospeco-Center-Grabbox/dp/B01EX6IFY4/ref=sr_1_3_sspa?crid=2V3TMR87EETTW&keywords=shop+towels&qid=1655365108&s=industrial&sprefix=shop+towels,industrial,85&sr=1-3-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUExQUFKQUMxT1FVWTA5JmVuY3J5cHRlZElkPUEwNjQxMTgwMko5QlhWVUFZWDJMQyZlbmNyeXB0ZWRBZElkPUEwMzk0MDEyTTlORUdJMTAxVE1RJndpZGdldE5hbWU9c3BfYXRmJmFjdGlvbj1jbGlja1JlZGlyZWN0JmRvTm90TG9nQ2xpY2s9dHJ1ZQ==
https://library.machinesaver.com/uploads/images/gallery/2022-06/cvEzChvSuBS7sNs1-degreaser.jpg
https://library.machinesaver.com/uploads/images/gallery/2022-06/R2ZVSrTvy5xeuDRw-shop-towels.jpg


10. Locktite Blue 242 Threadlocker

                                              

 

 

1. Metric Bottoming Tap M6x1           |          Standard 
Bottoming 1/4"-28 UNF Tap

                   

Tools By Mounting Method
               Metric Captive Bolt         |        Standard Captive Bolt

https://www.amazon.com/Loctite-Heavy-Duty-Threadlocker-Single/dp/B000I1RSNS/ref=sr_1_1_sspa?crid=1BGLINW7RPLNQ&keywords=blue+loctite+threadlocker&qid=1655364110&s=industrial&sprefix=blue+loctite+threadlocker,industrial,80&sr=1-1-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUEzNlRaN1hXQVBFTEZMJmVuY3J5cHRlZElkPUEwMTg4MTMySjcyVFpESEhVN1UxJmVuY3J5cHRlZEFkSWQ9QTA1Mjg2MzgxNDYyTEVaRldWUlJEJndpZGdldE5hbWU9c3BfYXRmJmFjdGlvbj1jbGlja1JlZGlyZWN0JmRvTm90TG9nQ2xpY2s9dHJ1ZQ==
https://library.machinesaver.com/uploads/images/gallery/2022-06/hGrEumrhNNbW8Q41-removable-loctite-threadlocker.jpg
https://www.amazon.com/Kodiak-Cutting-Tools-KCT210989-Threads/dp/B007BTQEQC/ref=sr_1_3?crid=QL1MIV6BSVA4&keywords=m6x1+bottom+tap&qid=1655373776&s=hi&sprefix=m6x1+bottom+tap,tools,89&sr=1-3
https://library.machinesaver.com/1/4"-28 UNF High Speed Steel Bottoming Tap
https://library.machinesaver.com/1/4"-28 UNF High Speed Steel Bottoming Tap
https://library.machinesaver.com/uploads/images/gallery/2022-06/EQy6IdS3iudb7fpa-m6-x-1-bottom-tap.jpg
https://library.machinesaver.com/uploads/images/gallery/2022-06/ol1vC8oNjKR7oGCB-1-4-28-unf-bottoming-steel-tap.jpg


2. 5.0mm (13/64") Drill Bit                    |                          
   #3 drill bit (7/32”)

3. Tap Handle

                                 

4. Power Drill (We Recommend Wired and 1/2")

                              

Note that the amp and torque requirements to
cut into the case of a machine differs by case
material. Select accordingly.

1. Epoxy Cartridge (50ml LORD® 403/19 Modified Acrylic 
Adhesive Recommended)

Mounting Pad         |         Frenolic Block (High Heat)         |       
 Motor Fin Mount

https://library.machinesaver.com/uploads/images/gallery/2022-06/T38Tdo83srndMXk7-1-4-28-bottom-tap.jpg
https://www.amazon.com/Bosch-BTH014-0-1-T-Handle-Wrench/dp/B07GRJMSDQ/ref=pd_day0fbt_img_sccl_1/142-4056952-8354422?pd_rd_w=kjTFf&content-id=amzn1.sym.134f9fe5-f651-42b4-bca3-da68afd012fb&pf_rd_p=134f9fe5-f651-42b4-bca3-da68afd012fb&pf_rd_r=BYDZXSK5Y06C7PVPQ336&pd_rd_wg=ydDDh&pd_rd_r=e10f220b-dc3e-4799-a0c4-32292a8b8e5f&pd_rd_i=B07GRJMSDQ&psc=1
https://library.machinesaver.com/uploads/images/gallery/2022-06/tbrpdLp0IvKkVvzq-metric-tap-handle.jpg
https://www.amazon.com/DEWALT-DWD210G-10-Amp-2-Inch-Pistol-Grip/dp/B001TKTI9O/ref=sr_1_6?crid=FM1SS91YK7SO&keywords=WIRED+power+drill+1/2"&qid=1655366589&s=industrial&sprefix=wired+power+drill+1/2,industrial,67&sr=1-6
https://library.machinesaver.com/uploads/images/gallery/2022-06/sW8cdnEO0bXdFvxc-1-2-inch-corded-drill.jpg
https://www.ellsworth.com/products/adhesives/acrylic/parker-lord-403-19-modified-acrylic-adhesive-off-white-50-ml-cartridge/
https://www.ellsworth.com/products/adhesives/acrylic/parker-lord-403-19-modified-acrylic-adhesive-off-white-50-ml-cartridge/


                                                

               

Note that each 50ml cartridges contain enough epoxy to
mount:
     ~3 Mounting Pads
     ~2 Frenolic Blocks
     ~2 Motor Fin Mounts

2. Epoxy 4-1 Ratio Plunger (Compatible with Recommended Gun 
+ Cartridge)

                                                       

3. Epoxy Gun
                                                        

                  

4. Extra Mixer Nozzles

https://library.machinesaver.com/uploads/images/gallery/2022-06/idbplYUkJwLMJwce-lord-403-19-adhesive-50ml.png
https://www.ellsworth.com/products/dispensing-equipment-supplies/dispensing-systems-fluid/hand-held-2-part-applicators/sulzer-mixpac-eapla05-04-system-50-plunger-4-to-1/
https://www.ellsworth.com/products/dispensing-equipment-supplies/dispensing-systems-fluid/hand-held-2-part-applicators/sulzer-mixpac-eapla05-04-system-50-plunger-4-to-1/
https://library.machinesaver.com/uploads/images/gallery/2022-06/my11vOJwvbDdB0bD-sulzer-mixpac-04-plunger.jpg
https://www.ellsworth.com/products/dispensing-equipment-supplies/dispensing-systems-fluid/hand-held-2-part-applicators/sulzer-mixpac-ea51-manual-gun-50-ml-1-to-1-or-2-to-1/
https://library.machinesaver.com/uploads/images/gallery/2022-06/DFULWQhdUtqFHrOX-sulzer-mixpac-manual-gun-50ml.jpg
https://www.ellsworth.com/products/dispensing-equipment-supplies/tips-needles-nozzles-static-mixers/static-mixing-nozzles/sulzer-mixpac-statomixa-ea6.3-21sa-ma-static-mixer-0.25-in-id-x-6.02-in-x-21-element/


                                                            

Note that the extra nozzles are optional but the epoxy
will set within 15 minutes of sitting. If you plan to take
more than 5 minutes to use the whole cartridge, you
should plan on replacing the nozzle.

 

1. No Additional Tools Required. Can be installed using just the
required tools.

Use caution when placing the magnet on the machine.
Read the mounting specific instructions before installing
to avoid hurting yourself or damaging your sensors. 

 

Magnetic Mounting Pad

https://library.machinesaver.com/uploads/images/gallery/2022-06/L8M2zV3qYoBbfHeg-lord-403-19-green-dispenser.png


1. RedPitaya (STEMlab 125-14 Recommended)   |   Oscilloscope 
(Tektronics TBS 1052C Recommended)

                         

Bus Communication Verification
Tools

Note that this section is specific to customers who want to use a more robust, but also 
more labor intensive, method to verify their RS485 Electrical Characteristics and Modbus
Communications.

https://redpitaya.com/stemlab-125-14/
https://www.tek.com/en/products/oscilloscopes/tbs2000
https://www.tek.com/en/products/oscilloscopes/tbs2000
https://library.machinesaver.com/uploads/images/gallery/2022-06/iGS1021ae8359QKT-red-pitaya-stemlab-125-14.jpg
https://library.machinesaver.com/uploads/images/gallery/2022-06/692yp0aBuvZ3iaHb-oscilloscope-tbs-1000-1520b.jpg


2. RS485 Bus Analyzer

                                           

https://iftools.com/analyzer/index.en.php
https://library.machinesaver.com/uploads/images/gallery/2022-06/v4LnbLDVXaKayvPA-rs485-analyzer.png


Power Drill
3/16" Allen Wrench/Hex Key
#3 drill bit (7/32”)
UNF 1/4"-28 Steel Tap, 3-4 Flute, Right-Hand Thread
Captive 1/4"-28 Mounting Bolt
Loctite Threadlocker 242 (Blue/Removable)
Torque Wrench

1. Choose mounting location. Accelerometer/Sensor Mounting Location Selection
2. Verify the machine casing is thick enough to drill 0.3 inches (7.65mm).

If the casing is not thick enough, choose a different mounting method.
3. Use the #3 drill bit (7/32”) to drill into the machine casing 0.3 inches (7.65mm).

The hole should be perpendicular to the face of the machine.
4.

Make sure to drill a straight hole. Crooked holes can result in convolution of the 
triaxial signals.

5. Use the UNF 1/4"-28 tap to cut the threads into the drilled hole.
Be sure to keep the tap perpendicular to the face of the machine while tapping to avoid a
crooked thread.

6. After tapping completely to the bottom of the 0.3 inches (7.65mm), clean any metal
shavings from the hole and clean with a Q-Tip and degreaser.

7. Insert 3/16" Allen Wrench/Hex Key into the hex depression on the captive 1/4"-28 
mounting bolt.

8. Screw the 1/4"-28 mounting bolt into the TriVibe, starting on the LED side.
When completely inserted, the threaded tip of the mounting bolt should stick out of the

Imperial/US Drill + Tap
(Best Method for Frequency
Response)
Captive Mounting Bolt 1/4"-28
Tools Required

Procedure

https://mounting_location_selection_page
https://library.machinesaver.com/uploads/images/gallery/2022-05/Sh4G2dvSi4tusdf1-1-4-28-mounting-bolt.png


backside of the TriVibe.
9. Add a dab of Loctite Threadlocker 242 to the exposed threads. 

10.
This step is important because, over time, movement can cause the mounting bolts 
to become loose and result in improper vibration levels.

11. Insert the wet, loctite-ed threads into the newly tapped hole.
12. Rotate the Allen Wrench/Hex Key clockwise to tighten until the torque on the Allen

wrench is 25.0 lb-in (3.0 N-m).
13.

DO NOT OVER TIGHTEN. Excess force can damage the TriVibe.

 



Power Drill
5.0mm Allen Wrench/Hex Key
5.0mm (13/64") Drill Bit
ANSI M6x1 Steel Tap, 3-4 Flute, Right-Hand Thread
Captive M6-1 Mounting Bolt
Loctite Threadlocker 242 (Blue/Removable)
Torque Wrench

1. Choose mounting location. Accelerometer/Sensor Mounting Location Selection
2. Verify the machine casing is thick enough to drill in 7.65mm (0.3 inches).

If the casing is not thick enough, choose a different mounting method.
3. Use the 5.0mm (13/64") drill bit to drill into the machine casing 7.65mm (0.3 inches).

The hole should be perpendicular to the face of the machine.
4. Use the ANSI M6-1 tap to cut the threads into the drilled hole. Be sure to keep the tap 

perpendicular to the face of the machine while tapping to avoid a crooked thread.
5. After tapping completely to the bottom of the 7.65mm (0.3 inches), clean any metal 

shavings from the hole and clean with a Q-Tip and degreaser.
6. Insert 5.0mm Allen Wrench/Hex Key into the hex depression on the captive M6-1 

mounting bolt.
7. Fasten the 1/4"-28 captive mounting bolt into the center threads of the TriVibe, starting

on top of the sensors (the side with an LED).
When completely inserted, the threaded tip of the mounting bolt should stick out the
bottom of the TriVibe (opposite sied of the LED.

8. Add a dab of Loctite Threadlocker 242 to the exposed threads.

Metric Drill + Tap (Best
Method for Frequency
Response)
Captive Mounting Bolt M6-1
Tools Required

Procedure

https://mounting_location_selection_page
https://library.machinesaver.com/uploads/images/gallery/2022-05/ohzzrmTnGjBlTR1V-m6-1-mounting-bolt.png


9.
This step is important because, over time, movement can cause the mounting bolts
to become loose and result in improper vibration levels.

10. Insert the wet, loctite-ed threads into the newly tapped hole.
11. Rotate the Allen Wrench/Hex Key clockwise to tighten until the torque on the Allen

wrench is 25.0 lb-in (3.0 N-m).
12.

Do not over tighten because excess external pressure/force on the housing can
cause damage to the internal chops and sensors of TriVibe.

 

 



1. After reading about the various mounting options and selecting a location that suits your 
machine application.

2. To remove all debris/dust/grease and ensure a strong bond between the mounting 
hardware and the metal of the machine or component, use a contact cleaner solution to 
clean the following:

1. The mounting hardware itself.
2. The selected mounting location where the mounting hardware will contact the 

machine or component.
3. Locations where the curing tape will contact the machine.

3. Allow time for the contact cleaner to dry completely OR wipe clear any residual cleaner 
using clean shop towels.

4. Depress the black plunger of the epoxy kit to force 15ml (roughly 1/3 of the 50ml 
cartridge) of epoxy, through the mixing nozzle.

5. Use a tongue depressor or similar clean mixing tool to vigorously and thoroughly mix the 
epoxy for 30 seconds in the disposable cup. From the moment the epoxy begins mixing 
through the nozzle to the installation of the mounting hardware there is 2 to 4 minutes of 

Epoxy + Mounting Pad,
Phenolic Block, or Motor Fin
Mount
Mounting Hardware

Instructions

https://library.machinesaver.com/uploads/images/gallery/2022-05/n5aH3XSb1TmQ6FKp-phenolic-mounting-block.png
https://library.machinesaver.com/uploads/images/gallery/2022-05/8hFnkAetV19tuLF7-20109fin-mount-large.png


working time @ 75°F (24°C). So Step #7 should be completed by the 4th minute.

The tip of the nozzle may also be used, in lieu of a tongue depressor, to mix the 
epoxy in the disposable cup.

6. Apply the epoxy to the flat side of the mounting hardware.

Be careful not to get ANY epoxy on the bolt threads or in the threaded hole while 
handling the sensor.

7. Press the mounting hardware down on the selected mounting location. There should be 
enough epoxy under the mounting hardware that it pools around the edges when it is 
pressed down.

8. Use a liberal amount of curing tape to hold the mounting hardware in place while the 
epoxy cures. Allow a full 10 minutes for the epoxy to cure before installing the sensor and 
the sensor mounting bolt. For best results, verify that nothing puts additional pressure on 
the sensor or mounting hardware for a full 24 hours @ room temperature, or shorter 
periods at higher temperatures, while the epoxy is reaching its fully cured state.

To reduce the cure time, a heat gun may be used. Hold the heat gun 4-6 inches 
from the epoxy while employing a gentle sweeping motion around the mounting 
hardware base to uniformly heat the epoxy for 10-15 minutes.

9. Tighten the sensor down into the tapped hole of the mounting hardware using the 
instructions from the imperial/us or metric mounting bolt instructions.

 



1. Choose sensor mounting location (Sensor should be mounted perpendicular to the shaft).
2. Clean the desired sensor mounting location to allow the magnet to have the best 

connection with the machine casing.
3. Attach the TriVibe to the mounting magnet.
4. Use a rolling motion to roll the magnet & TriVibe onto the machine! DO NOT just plop it 

on the machine as this could damage the internal accelerometers. CAUTION: keep fingers 
off of the silver on the magnet while attaching to machine, the force of the magnet is 
strong enough to seriously injure a person.

Magnetic Mounting Pad
Magnetic Mounting Pad

The magnet mounting pad is 120 lb pull force and dimensions length 2 in, width 2 in, and 
height 7/8 in. Also, it has a 1/4x28” UNF mounting connection.

https://library.machinesaver.com/uploads/images/gallery/2022-05/azwK63LegTLPqqii-20243trivibe-magnet.png
https://library.machinesaver.com/uploads/images/gallery/2022-05/azwK63LegTLPqqii-20243trivibe-magnet.png

